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Q1 Choose the right option and rewrite the sentences : (4)
1) Moisture-laden winds coming from ............... are obstructed by eastern and western ghats.

2)

3)

4)

Q.2

Q.3
1)

2)

3)
4)
5)

Q.4 (A)

a. Indian ocean

b. Bay of Bengal

c. Arabian Sea

d. Southern Ocean

Population is an important ............... of any country.
a. resource b. growth c. input d. source
India is consideredtobe a ................ Country.
a. tropical b. temperature C. polar d. equatorial
India has a higher ............... population.
a. older b. working c. children d. dependent
Match the correct pair. (4)
Coloum "A" Coloum "B"
i. Trans-Amazonian a. Tourist place Highway
ii. Road Transport b. Railway station in India
iii. Rio-de-Janerio C. Major highways
iv. Manmad d. 40° W Meridian
Answer in one sentence. (Any four) (4)

What are the objectives of BRICS?

Identify the odd man out.
With reference to India:
i. Mangrove forests ii. Mediterranean forests iii. Thorny bush-type vegetation iv. Equatorial forests

What kind of natural disasters does India face ?
Which wind brings rainfall in India peninsular region ?
Why has India become a famous tourist attraction for foreigners.

Do as per the instructions given below. (4)
Fill information in the map of India, give titles and prepare an index/legend.

i. River Sindhu (Indus)

ii. River Krishna.

iii. The North Indian Plains.
iv. Eastern Coastal Plain.



V.

Highest peak of India K2

4

Vi. Aravalis.
(B) Answer the following questions on the basis of the map given. (Any four)
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Q.5

In which direction does the region with an altitude of more than 6000m lie in India?

i.
ii. Look for the south-flowing river in the peninsular region. In which river basin does it lie?
iii. In which direction is the slop of the region in the north shown in the dark green?

iv. Make list of plateaus located in between Arawali ranges and Chhota Nagpur plateau?

v. Name the peak shown eastern ghats

vi.Which mountains demarcate the deep plains of Brahmaputra?

Give geographical reasons. (Any two)

(6)



1) Eco-tourism being developed more in Brazil.
2) There is mixed economy in Brazil and India.
3) Can you give two reasons of concentration of fishing near the south — eastern coast of Brazil?

4) Settlements are sparse in north-eastern Brazil.

Q.6 (A) Draw a graph / Answer the help of the given statistical information. (6)
Prepare Brazil's Life expectancy bar graph and write the answers
Year Average Life Expectancy (in years)
1960 54
1970 59
1980 62
1990 65
2000 70
2010 73
2016 75

i. Whatis life expectancy?
ii. Which decade shows the highest increase in life expectancy?
iii. What conclusion can you draw after reading the graph?

OR
(B) Answer the following by reading the graph/diagram.



Q.7
1)

2)

Brazil
Annual Average
Precipitation and Temperature
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i. Considering the isotherms of Brazil what is the average range of temperature in Brazil?

ii. In which area does it rain more

iii. From which directions are winds flowing towards Brazil.
iv. What could be the reasons behind that?

v. What could be the obstruction in the way of these winds?
vi.Which type of rainfall will occur because of these winds?

Answer the following in detail. (Any two)

Outline the importance of field-visit.

Explain the similarities and differences between the population distribution in Brazil and India similarities.

®)



3) What could be the reasons behind the formation of swamps in the extensive continental location of
Pantanal?

4) Why do human settlements grow in specific location only.



